Y1 - Summer - Block 5 - Step 1 - Recognising coins Answers

Question Answer

20 pence

5 pence

10 pence

1 pound

1 pence

50 pence

2 pence

2 pounds

There are 2 1p coins.
There are 3 2p coins.
There is 1 5p coin.
There are 4 10p coins.
There are O 20p coins.

a)
b)
c)
d)

V NAV

drawing of 5p, 10p, 20p or 50p coin
correct value of drawn coin
There are four possible answers.




Y1 - Summer - Block 5 - Step 2 - Recognising notes Answers

Question Answer

5 pounds

20 pounds

10 pounds

50 pounds

Either £5 note could be circled.

There are O £5 notes.
There are 2 £10 notes.
There is 4 £20 notes.
There are 3 £50 notes.

a) [:

b)

c)

No.
There is no such thing as a £30 note.




Y1 - Summer - Block 5 — Step 1 — Counting in coins Answers

Question Answer

a) Ip 2p 3p 4p
b) 2p 4p 6p 8p

1 c) 5p 10p 15p 20p
d) 10p 20p 30p 40p

No.
4 2p coins will always give an even total, and 11 is odd.

No.
Ron has 18p.
If Jo has three 5p coins, then she has 15p and so has less than Ron.

However, Jo could have three 10p coins (30p) or three 20p (60p) coins or three 50p coins
(150p).




